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SST Solve-A-Problem — Junior

Anna has 5 balloons and Conor has 7 balloons.
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Who has the most balloons?
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SST Solve-A-Problem — Al

A child places seven stacking cups on top of each other. Each cup is a
different colour. The cups are blue, brown, green, orange, red, white and
yellow.

Use the following clues to help you discover how the cups are stacked.
Clue 1: The yellow cup is in the middle.

Clue 2: The blue cup is on top of the green cup.

Clue 3: The white cup is on the bottom.

Clue 4: The orange cup is directly below the yellow cup.

Clue 5: The brown cup is on the top.

SST SOLVE A PROBLEM —CHALLENCE
Emma ate 100 jellybeans in five days.
Each day she ate six more than she ate the previous day.

How many jellybeans did Emma eat on the first day ?

(Hint : Use a guess and check approach)






